
Pivot Slide Tube with Tubular Footplate 
H903, T943A/C/S, T963A/C/S, TH93A/C/S Footrest



Pivot Slide Tube with Tubular Footplate 
H903, T943A/C/S, T963A/C/S, TH93A/C/S Footrest

Item
Number Part Number DescriptionNote

Quantity Per
Package Assembly

1012183-NLA NLA - Tube, Pivot/Slide, Black 1 11
7930357-NLA NLA - Washer, Nylon (1/4 x 1/2 x 1/32") 25 22
1015176-NLA NLA - Screw, Socket Button Head  (1/4-20 x 1-1/4") 1 13

10502X001-NLA NLA - Lockwasher (1/4") 1 14
1012158-NLA NLA - Insert, Lower Slide Tube 1 15 D

1027097 Plug Button, Black (3/4") 1 16
1012182-NLA NLA - Bracket, Pivot, Black 1 17
7930365-NLA NLA - Locknut (#10-32) 25 28
1008552-NLA NLA - Cover, Footplate - Medium 1 19 D
1008553-NLA NLA - Cover, Footplate - Large 1 19
1016294-NLA NLA - Tube, Footrest (Right/ Left) 14"-15" Wide

Chairs
1 110 A

1012181-NLA NLA - Tube, Footrest (Right/ Left) 16"-22" Wide
Chairs

1 110 A
1026404-NLA NLA - Tube, Footrest, Black - Medium 1 110 A,B
1026405-NLA NLA - Tube, Footrest, Black - Large 1 110 A,C
1012608-NLA NLA - Screw, Truss Head (#10-32 x 1-1/8") 1 211

16690X000-NLA NLA - Screw, Hex Head (1/4-20X1) 1 112
15108X000 Locknut (1/4-20) 1 113

7930364-NLA NLA - Package, Locknut (1/4-20) 25 114
See Chart Pivot Slide Tube with Footplate 1 115

A - Right/Left  
B - For chairs 14 - 15" wide.  
C - For chairs 16 - 22" wide.  
D - Part number is no longer available as a service part individually. See item 15 and order a complete Pivot and Slide Tube 

with Footplate Assembly.   
NOTE:  Tubular Footrests are painted black and should be ordered in pairs for chairs built before 10/6/00. NOTE:  Pivot Slide Tube and 
Footplate is attached to Footrest Support using a compression clamp welded to the Suport Assembly.  

NOTE:

 
Pivot Slide Tube with Footplate

Prior 
Model Number

Current 
Model Number Chair Width Side Part Number

1030752-NLARight14 - 15"T943SH903 Chrome/Black
1030753-NLALeft14 - 15"T943SH903 Chrome/Black
1012263-NLARight16 - 22"T943CH903 Chrome/Black
1012264-NLALeft16 - 22"T943CH903 Chrome/Black


